
Factorisation d'Exposants (F)
Décomposez chaque exposants en facteurs.

257 =

610 =

147 =

511 =

68 =

1712 =

1810 =

119 =

178 =

1710 =
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Factorisation d'Exposants (F) Solutions
Décomposez chaque exposants en facteurs.

257 = 25 × 25 × 25 × 25 × 25 × 25 × 25

610 = 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6

147 = 14 × 14 × 14 × 14 × 14 × 14 × 14

511 = 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5

68 = 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6

1712 = 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17

1810 = 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18

119 = 11 × 11 × 11 × 11 × 11 × 11 × 11 × 11 × 11

178 = 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17

1710 = 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17
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6 103 515 625

60 466 176

105 413 504

48 828 125

1 679 616

582 622 237 229 761

3 570 467 226 624

2 357 947 691

6 975 757 441

2 015 993 900 449


